K,W&/M
W% Ay (00 2) $ulent )
fo) (w ) A 2 = Al oy g"
#-30e TRV !/LCFW —
/ roy Op
2 ok . Aulerat) copl~
fiw Chilend' = i M}_ = i 2278 ). M
X = Jpe VLE €20t € &0 wat~A
4 - -1
X<t w2
o AuloxB o Ay 8
L cnat— LS _ A
e v fmaé,g 4
2 — e ES Z
ok _ g Pt~ N buat) | a
fﬁ(o t* /%—10 ¥ cnat+1) -0 e (maé;b
- —1 E
(VecF+ kot ) -
_al

4 L (A= aupdp 2 -
) /f.,(j:‘?;— _ (_ QAM{/{”) LUV /Q&—%ﬁ ?D o 7 'Y:E‘—”——B
o e B0 TE) (4 —ouf ) (aull)

v I Kw -
4=t t0 - el 1€

-
L ful A~ ey ) 1lonelpit) ¢ 2) 7_
T Loo ~ausdy 36 i =5



~]

3 b) (@ 2&17/7\1(:’ W ﬁ“) A Mﬂh é}'_-—-o ?.
4 : Ny
: ' z = w1 & )
() £00 = aw%f ;%7’ / %—_?O ‘ VLCF /{%—?Ho b%é /
L e Wr Wu% $0) =&
. —~nK ) - g Jzex 1 Ly
p

A f okt WVM'VX';@

3 &y {(MT—{’& ?“f()i&) | Xt0
0 (P
St : }

0 ek g < £ (E) o (war

{0 LD
¢y gy = el +X@i&\&,-{:wi[~fz)
w pl) = 0 (V&‘rfa; w%) 7a Uly a=0 =)
CEI o ey
K et
/M,Q’,,r ,f/@) /EL((,;,O‘___;?//_K____ )

1

A~x""
f{%):\ii 2 < 4 {d}c‘fy{ﬁa/ (ot p&“fq )wH/’f/
(LOl g [x12 4 —b— (A ) u(—aa,—4)




(%2 / x> p / _'{id 2x
o= T e T
v (~(1) S (=)
y
— d 5 T A—x?
te o Tl o e (0, e Ao <o Lrplveo
X—34 - )Cz“/f V-4 22 Wb t
—

@f {K(‘,TZ %}570 “""U"/ {P\

v Lo, 4

e XTO A I~x2>0 & ¥Xro A Xe{—{(d) -- e Ot)

v X0 A f(—k:?co &= x@(—o»,~4)

1 A= x(uf)

> 1 |
' 2 . \ WA g C{—“)CZ
4 _‘_ A1t % d—yxz

4 ) 0
- ch/@g e f —_— 5 —-f(—{:x—)—_ {ké’[“'ﬂ‘-’r“’l)
. 7 7 2
3 = Q’M vlor*"“)
Ay — 4

[ e ) -
’g[o-l') Lé0++)c) L
Cfomplat vO+ )



TS ’(—:)O{_u A
o wlls) A
L0+ RN _{/I A
{—x7
o~ ——
—

/M) —
upn &
1y A ,Cfcmmi* Ny T - dg
) £ —30° ¢ -+ t o
w - 01 yeF R
— %:t
4 ,e:i' y
/&m ng’( = St _—T - - ” T;;
‘ h 4=
¥
foc £
M (au N\ fax i hlacdy
m X —
Ix B0 _ .,
SK——WO X ﬁw ULM: E
" rC_j&Qf?_, N
a {
L
e q s
/&ab___”ﬁf,% ot g, A E
=02 K K « ¥ . X0
e T
! /
= /&% L ‘ (-—3(_) ”?
VisE 0k """’/ﬁ’ﬁs
[3
? ér _ -4



St l,&((mﬂ) Py cul o3 ) ey — A

o X (-0 + covx —1 (X)) o=
— iy .e—il
X fu (A~ S‘E —1
fiw (A= ) = M g ) -e
QX_-?W o 5 W —3 o2 e
- b (4-L)
po xbla-% ) = p BT =
A= o VLT - 04 VLSF +4atol
4 -
g * (2 2 ) ~i_
£
M (% 2x )M - de £ WSE o
c:’f:j?ff'f‘ ’%ﬁr’{— E #0 1 = (=1
o ‘ { ()ay-—é’_)
ple -0 0 E P BN |
et Lx \ D Y o 7
=0 |
3 A [ ef-2x) el-2v -1
ke Aadefeed oo 1y 4 X
Y
TatbeC + VLLF
C2p - (21 )
/Q £ LJC}L/f :"[L( - 1
2 )



Juttete,

e
et

X'E(dﬁv")
©) @m) xe‘b{_” _ L xy "
S ——— ﬁ.r.::.f:” ~— X g fj—( xe (~voyd>
~ (x~1) %’k(}b«:)
ks ‘.Jfrx): X 2 ﬁ{){:’://
pea)-
—[)C—*fi) pa
¢ u@fﬁ /&mffx):/&&xg = b — -0
:l—f L)y Aodte X940 ., D o L
Aae f(&) = fom X_Q,)(’—/( = A _K{:T =0
L= —pe Y202 5 oo - e

sdbod W ,(/34, W\ZQ"’VE /F()c)f{) & x=0

Y20 o (04p) ) A0) <O (~2/?)

. \ { e ~{x -1
\ * R 1R I ) g
e e
5 y = ~ ,( -’—
\f/ ‘t‘%’ (4 M..’S_,).) (VC [crmzh
, X~q ~ ] X ’f -
4i0x) = (xe ) = 2 +rd

x__
- f(r{f-)é) w—por 1)

=
‘el g =4 fD*I')“ /&MF(K = [¢)=o &
A g + st gl
~ YR [,() __/{ rV[——D"JQ)
410y = Af
l -
t - 1 k '\ v k=1 g ot Ll
N 1) e
oy =g ?&‘M/M,-W.
LD

A1) - 4 1) = - "

4% f



3

07 ()
- 2
; _ E/Cx—ﬂ)(_,‘) (4=x) ” .
nA) = .
(:‘): '“‘CX~1) (K—Z) z
— 2 ¥ ’FI/()() =0 C“‘) ¥
FL 2 1 x+2)
j ’@y‘{(K‘H) + £ (r(_po,’f—{)
f{(ﬂ : g=~2 o vy=2
v =
— + )“ gl ol
f N ) =
" - .y o~
O _"2 v ) /F[O) '
._/, 2
»63[1)11,@ =5




2.ogm~ fw)- | 264

=8

SO N )
4 O - R Q’[‘J*CO"!‘L)UCMW /
) Hrz o Linr=0 (= K= W ______ ( M )Mumm

B, 121 -0, e [Qx~7] ot Q)(,;WMMM

L=+ o L"”")Z (=4 ()2

. / 204~ fux~ ) At
b (Cﬂ - tg?m{lH)) ;%SWM—{)' (H)%M

TQZM {2)0-4)
143 -
ey ‘&er):O (=




7o
@jf /{}(}C) LQ?O ( )
oo
R{) @*f ( 0""*1) 1, ) v (f(/-#O&J ,f;(,(%j'ﬁﬂ/ M@c%m/
A X1 _
;&ﬁ iy iifz) =2 /gﬂc 2 x*= /g;‘ﬁ-@*—w =)
40)- 5 | L g ,Q- J__o
X% N GV g fae!
[ O () - (). 2y by = L
-&) ‘f()() - 2 s S . T

j_f/——-—-[(éx—if (deacri- (X)) |
ey (axtrae ) ) s ﬁ
s ey = B (3)
-



Ao
x~f{ .

K3~ ’f .
B gl - Aa Tl T o k() S

[0 fu(1d=) - e el ad o)

A
= (~4,0) “(OK’W)

2
- _ %20
a)@iﬂ{(, \x\x>ﬁ |
¢ —xlr0 (@ xe(4®)

kY,
M pe ¥ Ne-4)70

ge 7 = A
[, o x L ( v,
yorla v BE x| 4 e ek Lot edey
= %Cx)(O v @,ﬁ

. 2 = fiw Aut = »
R Jullel-x?) = o b 270 gl
S Au(—x¥) = Ao fab =0

G A - €0+



-

Hiy=o @ =3 ) f(’?w”’ (oct) 4 70> (i)
tloco v (1) £ o (L 0)

= v =i bl L gt wory (wental ) (v x= Ll )

{Te1) -ty

4 - (=) (1=ax) R ()

[ =
C,) /ﬁ(&)= (‘X__K‘ZB'} Q(__X_Zr)g_
Py Tt I ot S DY
= (X.-_)(Q)’L CX."“XJ {.M
r %ﬂ& o)y
o v (—1i0) ¥ a(01) o N o (~A0) Y
{M ‘2 (/0,0)




